n°maa %31 "7 "o K,u0 Mans .72

And upon the non> — oMo 9

Overview

The %21 relates'that after the ten tribes were exiled from »X72° y2X the king
of Mwx settled various nations (including those from 7in12) in the cities of
N (where the o°vawn nwy lived). When they settled there, '77 sent lions
to kill them for they did not fear '7. Eventually the king of 77wX sent a 172" to
teach them how to fear '77, and the 2°n13 converted to 98w n7 for fear of the
lions. In the following 0°?105 the X°21 sums up their status, saying: 17 '7 DX
N3 0072w 1 2aRR NRY ook, There is a dispute among the DX71AK) °RIN
whether the 2°m> were merely M™X 7% (and therefore are considered as
0”3) or they are nnR »a.

Our mwn mentions various categories of M7 ¥l which receive 0Ip, even
though there is a prohibition in their relationship with the 0iXn; amongst
them the n°nm>. There is a dispute between >"'w7 and N1BOIN as to the nature of
this prohibition.

— [NNNN N97 1892 WM {7 MR 71" 0'M3 13037 071aNpa W'D
>"w9 explained that the Xin of this 7w» maintains that the 2°Mm> were
converts out of fear for the lions; they were not sincere converts, and are not
considered to be Jewish. And therefore they are included in the

prohibition of *3nnnn X -
— (ow 1w 71 mnav 91003 RIPDN PAUT KPIOTI 1N 99 1N

And this follows s""w" view which is in accordance with the initial view
of X237 in » i po -

— MINN MO'N 179 °N {M13127
That when they are gentiles, the prohibition of intermarrying with *"12
applies to them; the m1o°x of 1nnnn XY applies to 21 (but not to *a™3).

mdoIn has a difficulty with >"w2%:
= 1'NN 11"371 {2 PAN" 11279 AR RI [0 1IN 71 0013 132057 W1 anl

The 2''2"1 does not agree with s""w7 explanation that the 2°n> are 9%
NN -

— DI 719 'R 02313 NT2I01 N*1 0°2313 N7210 |3 ONT
For if that were so that the 2°n12 are N X *7°), then she is a gentile (for
their M3 is meaningless), and an 2'12¥ receives no 21p -

D g9omy 13,10 "2 oo,

* See previous 12X 71"7 Moo, It appears that *"w1 maintains that the W2 of 1nrnn & applies to all the 273,
not only to the ¥R 7. See 31 77w mMinm 7w fakeafaiis! H’TDWBPKJN.

? That is why *"w" maintains that concerning the 2°1°n1 who were 013, the > of Jnrnn > does not apply.
They are M0X because D7y 13 T17.
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— ANM312 793R A9IR1 01 19 {127 (x o9 KNP PI92 71973
As the X n3 challenged in the first P95, saying: ‘shall we give her 817 in
order that she will consume it as an a"2v°!*

mdoIn has an additional question on s""w assumption that M3 are N17IR 7
= 1 AKX 1" 6|'I“.| "N 1°'NN "IN 5'I‘Nn 273 1'NMINN PN RIN1aT i
And furthermore the X723 establishes that our mwn» follows the view of

n'"9; and »''% maintains that 2°n1> are true 293! How can *"wA claim that our
7IWwn maintains that 17 12X *7°3 2°30127!

mooIN anticipates a possible refutation to his question on >"wA:
= N1 NN R77T R1N12 1NN 112 RAO7T 1°NN 273 RTXR N7 1"M'INN 09137 21 90 N1

And even though the entire 722w» does not follow the view of 2''9; for as
the Xma states’ concerning the rule that 102 ¥ X277 receives no 017 (which is

found in the X9°0 of our Smtzm), that this does not follow the view of n".
The same may be true concerning 'n°n12' that it also does not follow the view of n"
(perhaps only the cases of M1y and 121 MR %v X271 follow the view of n'").

Moo negates this refutation; that notwithstanding that 102 is not according to n'"A:
= 1'NMN3 N'NK [ ONRKR "1"A7 71207 812 01PN 93n

Nevertheless, concerning that which »"7 maintains that 2°n> are 9%

NR, in this aspect the 71wn agrees with »"4. mooin proves his contention:
= 11113 "N13 1 N N IR MMUT [I"PON  (ow :n9 57 &np &33) ‘111 T NAID 103 NA7T

For in 'm ' naw 9 P15 the X3 concludes that an ox of a Jew which

gored the ox of a "m> the Jew is exempt from payment.” The X3 there explains
the reason for this (M), is -
— 0N NRR 117 20 10 N7 21 9D [N 0NNNA T'RA "1 017 NIA 017 Oun

Because »''1 levied a fine against the monies of the o°n1> and prohibited
them for collecting their due;'’ even though legally the Jew is obligated to

pay the °nd, for they are n»R 3933, The xn3 there continues -
- DIp 19 W* N"M371 37T "N"INnn 7191

And challenges that explanation, from our w? here which states that a
NN receives 21 -

* The X3 is referring to the rule that a jop 73 which 7"°2 converted can retract his m7°) when he matures.
The X731 asks from the 71wn that a 131 710P N3 receives 01p; why should we give her 01p if she may recant
her N1l

> Here on our Ty, in regards that a 73vp has no 031p (and on 2,37 77 in regards to what the 71wn states that
0Ip 777 WY 121 IMNR DY Ra7).

69,mh p"a.

T3,

895 A7,

? The o agree with this 17. However n"1 adds that a 58w 52 M maw *m2 M always pays a 0w pi,
even if he is a on. The following explanation applies to this case as well.

10 The xm3 there explains that the 01p was in order 772 WnY> K7W,
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— *1913 U119 N1 N3 011NN 1NN "1 0IPW N1 017 JNUT R{PI0 N
And if you entertain the thought that »'% fined the o°m> in their

monetary rights let »"1 fine them here by n°m>1 %y %27 as well''. This
concludes the citation of the X313 in P"2.
— [ NNR *1")7 1720 N30T "N"INRT RNYN

It is evident from that question that our 71w» here maintains that o°n1>

are NNK 9% (as n"). For if our 71w» were to maintain that 2°n12 are N1°"XR *7°3 (not like
n"I), how can we ask a question from »"7 (who maintains 377 DX 7)) to our 7I3w»n which
argues on 1"7 (and maintains 37 N1IX *7°3)?! The question on >"wA remains; how can he
maintain that 2"9 is of the opinion that 177 n1"X >7°3 2°M>?!

mooIn has a difficulty with his own conclusion that 377 naR 3% o°n1.
= N1 71711 NIRRT 01 19 W' NA'IW3 |7 DNWN NP "NND (3 ON NNN ON]

And if you will ask; if this is so that o°n> are n»X °7°) than what is the m1wn
teaching us that 01p 7% w° n°ndn %Y K27, it is obvious that she receives o1p
for she is a complete no5xws?!"

madIn answers:
= 1131 10Nn1" NI 01p 19 (130 RIT "NUT 8PI0T 10T WM

And one can say that we may have thought that we do not give her oip

in order that the Jews should not intermingle with the o°m>." The mwn
teaches us that we do give them their oip. M

mMooIn has an additional question:
= (v 77 rwitR) [POMT 17D P19 KT [RNY TNRN ON1

And if you will ask; according to the one who maintains in 7wy p=p
PonY -
— DIp 19 W* NN [12 10011 ANSW1 7207 01N 0*m3 1091
That the ineligibility of 2°n1> to marry into the Jewish community is
because of the concern that a slave or 7w were intermingled in their
genealogy, then why does she receive o1 -
= "JPI1 NN ANIW IRIT A'R1N7R 19 MDY
Let the 01X»n say to the n°n> ‘bring proof that you are not (a descendant
from) a nnew and (only then can you) take the o1p’! This is certainly a valid

argument -
= 2171 X 1NN "IN 'R ¢m 971 p72) MKRT ININWY

" This question there seems more appropriate for the w17 of »"9 there that a >n2 5w <M that gored a M
SR Pw he is 09w 11 oown regardless if it is a an or a 7M. See MoOIN there 1"7 7"7. See ‘Thinking it over’
#1.

"2 See “Thinking it over’ # 2.

" This was the question the xn3 asked in p"a which mooIn just cited.

' The xm3 in p"a explains that we do not want that the X117 (the 01Xn), should be 7owa.
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According to 812w who maintains that in monetary issues we do not

follow the majority. Therefore even if the majority of 2°m> are not (descendants of)
mnow, nevertheless as long as there is even a 0y n of NMndW, she should not receive 0Ip.
= M7 NN 90 AXNN3J3 U133 931 V1P 2 210 021 10K 9'IRT 'R 2119 19"aN1

And even according to 29 who maintains that 21777 9nR AR 1097, it still
may be a proper claim that she be required to bring proof that she is not a
719w, in a case where the 01x» went to her (and was 5v12), for then she will
be considered a ¥13p, and the rule is that every »3ap is considered as half

against half." She therefore lost her 217 and the 912 can claim: ‘prove that you are not
a 1ow’. Why therefore does a n°n1d receive her 01p?!

Mo0IN answers:
= O'M13 1110 RNN3AXR NPINKR 19 (1"MpPIN NNKX 337 1N193 1

And one can say, that each n°nd is assigned the presumptive status of

her parents who were *z°n1s -
— ANPINR 19 ["0PIN N9 9103 11097 21 90 TN

Even though that in regard to her disqualification from marrying a Hx"w»

we do not assign her the 7?37 of her father that she is a n°m> and not a now, for we
forbid her to intermarry because of the concern of a fndw intermingling, nevertheless -
= 731 X0IN RN* RIW 179 [1'NPIN 01p "10Y

Concerning 017 we do assign to the N1°n1> a XN72KX7 P17 in order that the
sinner (01%») should not profit and be exempt from payment.

Mmoo has an additional question'”:
= 111 {1137 AXR1IM1 AW 9171 (137 7INIKR "Nl 1'IN X7 "NNN1 KN ON1

And if you will say; why does not the 71w also mention that there is a 211
D17 in a case where a A''> is DIXM an IR, Or a VT 7D is DINN a IR
72Yem?!

madIn answers:
= 1" XTI 11113 10917 1N1I WM

And one can say that the mwn» is not discussing those women who are
ineligible for ;71772. The mwn is only discussing those that are 0K to everyone.

MooIN continues to ask and answer:
— []"IN'J 211 NIN 2N X9 17R] 100 009 W'D 01N "N1IN 18N 1N X977 XM

"% See previous X, X703

'® The concern was that perhaps a *m3 (who is a n»X 3) married a 775w, thereby making the child a 105.
The 2% NP1 who is a NaR 73 is sufficiently strong to dispel any such concern. We assume just as the father
is w3 the daughter is 7w as well. See T2°X1 7 NIX 7""210.

' 1t seems that the following questions are not connected to the issue of N°’M13. ML is mentioning various
cases where there is an MO°X for the DiIXA to have relations with the 77v1, which are not mentioned in the
aawn.
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And the reason the miwn does not mention one who is DIX» a N*7X7 or an
nmMIX (who are forbidden to everyone); it is because eventually the *7%» and
the *m7X are permitted P> (a "MK M¥n are permitted 97pP% by the third
generation of '°mA3) [or we can also answer that the 71wn does not mention
WY 2271 (as a ' mITRY 1¥n), but only mentions XD 9397 (as a 191 nmn).

mooIn has yet another question:

= 13773 X9W 7IUAN NOIUN NWITA 1NN 1097 Nwp JaN
However there is another difficulty; the 71wn should have taught the case
of ‘one who takes back his divorcee after she remarried and she was
moyal from the second husband in a 712972 X®® manner (so she retains her 72102
status)™. If the original husband is now 01x» his former wife he must pay her the 01p even
though she is 70K to him on account of NXWIWH MW 1 (which is an WD MOX).

mooIN anticipates a possible answer to this question:
= (nu rwiTp) MO0 WD P33 (1IANT 11 J0 5N

And even though the X713 states in 1°0m’ 79wy P99, that -

= P19 1'RW WT'P N1 U2 ONW 0TI 930
That everyone agrees concerning the prohibition of a ynw13 2%, that if
the original husband was only %12 his divorcee, but was not w7p» her, that

there is no npP»» for transgressing the MoK of "X MR 72y2 927 XY, Therefore the
7awn does not mention it, since there is no nPYn 211,

mooIn negates this attempted answer:
= "IN 1NW1A 1NN ("031N W17 "R IKXT N2'PU 2719 O01pn 7In

Nevertheless according to ¥'"9 who maintains that PwYTP are not
effective by a ynwiaa 99, the 71w should teach us that there is 03p by ~mn
. It is obvious that according to ¥ who maintains X% °212 109N PR PR that
by all &% 21 (including w13 °1n) he is 7717 for the 7X°2 alone without 1wW17p, since
the Pw17P is meaningless for it is not effective. The question remains why the 71wn does
not mention NRW°IWN MNWIIA ¥ Xan?!

mooIn has one last question:

= [N .01p A9 WM Wnn T ntman 9o xan 1am] P07 ANt It NN a1 T
And furthermore the mw? could have taught us the case of a P qmas.
If someone was D11 a 722° who was a 02° N, she receives 01p even though there is an
IR? NOR of 77 WORY XN DA NWR 7770 RY.

'8 191 ' 30 (X¥n) 027,

' The 7710 states that a »»17X) ™M1%» are 1mM» when they are a *w*>w 7, implying that they are 210K for the
first two M7, A mwy 5251 X277 1KY is considered an nwy.

%0 mooin is asking this question according to 99°3 12 *01 "1 who maintains that there is no MoK of ~trn
P01°R:T 2 N3, therefore we must assume there was n8°2. However in order that she retain her 77102
status the nX%°2 must be 75773 X?w. According to the 13121 the question can be asked simply that the 73wn
should mention 7°017°X7 12 1WA 71 when she is still a 77302, See 2 "0 >"ypPY 1 "0 07 IRT R"WAAR.
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moon answers these last questions:
= "W1 RINT N1 W1
And one can say that the Xin of the mwn taught us some of the cases and

omitted other cases. The Xin did not offer an exhaustive list.

mMooIN anticipates a question on this last answer:
= 7"W1 RIN NIANR NN 19K 1N KRIN 97 eo o PI01TPT KNP PI93T 21 90 R1
And even though the X773 in the first P99 of w7P? Noon infers; the mwn»

stated ‘these’ and you wish to say that the Xin omitted some cases! It appears
from that X7m3 that when the Xin writes 12X in the 7wn, we do not say 9w Xin. How can
Moon answer that in our 71Wn where it states M Y1 oY, that it is 7w Rn?!

MoDIN answers:

— 371 PT'NY W XY UIP OnY PR 1IN C'ND03 "IN R3IN
Here in our case, it is different. For since it states in the 820 of our 7w~
‘and these do not receive 212’ we cannot make this inference, that 1x
precludes 27w Xin. The fact that the X9°0 states 01p 0% PRW 12X is conclusive proof that
the X is not an exhaustive list; otherwise, if the X7 was an exhaustive list, why the
need to mention DIp 0732 PRY 17X1; whoever is not mentioned in the X receives no 01p.
This proves that in our 73w»n even though it states 19X it is not an exhaustive list and we
can say 7"w1 Xin.

mooin offers a proof to his contention that when there is a dual 17X we say 21 Xin:
= (.19 771 o'nan WTPN NA1Mn P91 [N3JwNT3I

As we find in the w7pn nata3 PoD -
— ND'011 RIW™M3I 1IN WTP3A (9109 'R 1981 CWTP3A (9109 1IN NPT

Where the mwn states, ‘and these became ineligible (for a j27p) after
being sanctified; and these became ineligible without sanctification’. The
mwn goes on to enumerate these (two) categories and the resultant
differences. And the 71wn omits various cases both in the Xwva (of 79109

vTP2) and in the XD® (of wmpa 17100 PR). It is evident that by a dual 1781 we do say
W RaN.

mooin offers an alternate answer why many cases were omitted:

— J71 "J100 KIR 1'WN KI NIAT 019 W I
And in addition one can say that here the mw» mentions only those that
are unfit to the entire community (as a n°’nN121 71°N1 ,N717N). However ~mn

1 and 2P An2 are not MOX on the entire community. Therefore the Xin does not
mention them.

o,

2 In our texts there is no such statement as w"*¥ ,»7P2 12109 19X, It only states WP 19100 PRY 1K),
Perhaps mooin is referring to the statement 177 X7 129 X 2R3, which refers to wmp2 12100.

3 The pw> 2> will be permitted to marry anyone as soon as she is freed from her 77 to the 2. See
‘Thinking it over # 3.
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Summary
*"¥7 maintains that (our 71wn is of the opinion that) 2°n12 are N1IX °7% and

are therefore 272 210X on account of the X% of 22 JAANNN X2, NDOIN
maintains that (our 71wn is of the opinion that) 177 n1aX %3 2°n12. [The 71wn is
either 9w X1n or it only mentions 2:1p *2109.]

Thinking it over

1. mooIn proves from the X3 in "2 that our Mw» maintains 37 NAR 3>
Perhaps our 71wn maintains that 37 N X *3°3 and the question is w"> 7772, If
n"7 was M3 on NAX 773, should not our 71wn surely be M3 on M™MIX *7°37!

2. mooin asks that if 2°m> are Nk >3, then what is the mwn teaching us.”
Seemingly 900 agrees that even if 2°m3 are N1 >3, they are still %7p *2109
11277n; that is why the 71wn mentions them, that nevertheless they receive
oIp.

3. Mmoo states that the 71wn mentions only *27p *9109. The 71wn mention
491 1R, all who are not 71p 7109/

2 See footnote # 11. See 'n nX 7"210.
2 See footnote # 12.
% See footnote # 23. See X"wAn.
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